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1.

I':._-'. » sin43°

7 Work out N
{ B2 505

Giive your answer correct o 3 significant figures.

{Total for Question 7 is 2 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 1 (Non-Calculator) Higher Tier

2.

§ Work out an estimate for /498 + 2.16 x 7.35

{Total for Question § iz 3 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier

3.



12 {a) Find the reciprocal of 2.5

J4.3 = tan 39

{by Woark out
1,|| 23,4 — 6.0k

Crivie your answer comect bo 3 significant figures.

{Total for Craestion 12 s 3 marks)

Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier

4.

1. Simplify 6x + Oy + v — 3y

(Total 2 marks)

OCR GSCE — Tuesday 12 June 2018 — Paper 6 (Calculator) Higher Tier
5.



7 Edsel has four number cards.

Sharon has threa number cards.

u represants a number that Sharon knows.

Edsal and Sharon each pick one of their cards at random.
They calculate the difference between the numbers on their cards.
This is their sample space.

Edsel
3 8 | 12
B 3 2 3 6
Sharon 11 8 3 2 1
u 1 (] r t

Work out the values of rand 1.

4



